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e Gram Schmidt + examples



Refresher on linear independence

Are the vectors x; = (1,0,0),x, = (1,1,1),x3 = (1,—1,1) linearly
independent!
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Gram Schmidt.

Algorithm 5.1 GRAM-SCHMIDT ALGORITHM

given n-vectors ai,...,ar (L .1)
fori=1,...,k,
1. Orthogonalization. §; = a; — (qf ai)qr — - — (qF_1ai)qi—1

2. Test for linear dependence. if g; = 0, quit.
3. Normalization. q; = G /|G|
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Refresher on linear independence

What happens when we run Gram Schmidt on the list ofvectors x; =

(1,0,0), x2=(111) % = (1, L7 Lintacly ingyp
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Gram Schmidt.

Algorithm 5.1 GRAM-SCHMIDT ALGORITHM

given n-vectors ai, ..., ak
for:=1,..., k,
1. Orthogonalization. G; = ai — (qi ai)q1 — -+ - — (g'_1ai)gi—1

2. Test for linear depadence. if ¢; = 0, quit.

3. Normalization. q; = G /|| G|
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Algorithm 5.1 GRAM-SCHMIDT ALGORITHM

given n-vectors ai, .. ., ag
fori=1,..., k,
1. Orthogonalizatz’on.} Gi = ai — (¢t ai)qn — -+ — (¢gF1a:i)qi—1

2. Test for linear dependence. 1T q; — 0, quit.
3. Normalization. q; = q; /||q:||
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-~ Gram Schmidt.
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-~ Gram Schmidt. ,
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